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2017 June New Updated Cisco 300-115 Exam Dumps with PDF and V CE Free Version from www.Braindump2go.com 100% Real
Exam Questions! 100% Exam Pass Guaranteed! 1.]2017 Version New 300-115 PDF and 300-115 VCE 358Q& As Download:
http://www.braindump2go.com/300-115.html 2.]2017 Version New 300-115 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/OB75b5xY LjSSNYjV4eHQ4d T JoQX c?usp=sharing QUESTION 111Y ou have been asked to
install and configure a new switch in a customer network. Use the consol e access to the existing and new switches to configure and
verify correct device configuration.

Core

Y ou are connecting the New_Switch to the LAN topology; the switch has been partially configured and you need to complete the

rest of configuration to enable PC1 communication with PC2. Which of the configuration is correct? © @ soran e osr

vip version 3

vip mode server

int 0/0

swilchpor mode access
switchport access vian 100

O vip domain CCNP_TEST
vip password cisco123
vip version 3
vip mode client
int e0/0
swilchport mode access
switchport access vian 200

© vip domain CCNP_TEST
vip password cisco123
%P version 2

Err=simclu
switchport mode access
switchport access vian 100

O vip domain CCNP
vip password cisco
Vip version 3
vip mode client
int 00

swilchport mode access
switchport access vian 100

O vip domain CCNP
wvip password cisco
wip version 2
vip mode transparent
int e0/0
switchport mode access
suitchport access vian 200

A. OptionAB. OptionBC. OptionCD. Option DE. Option E Answer: DExplanation:Within any VTP, the VTP domain
name must match. So, step oneisto find the correct VTP name on the other switches. Logging in to SW1 and using the "show vtp
status' command we see this: So we know that the VTP domain must be CCNP. Thisleaves only choice D andE. We also see from
the topology diagram that eth 0/0 of the new switch connectsto a PC in VLNA 100, so we know that this port must be an access port
in VLAN 100, leaving only choice D as correct. Note that the VTP versions supported in this network are 1, 2, 3 so either VTP
version 2 or 3 can be configured on the new switch. QUESTION 112Y ou have been asked to install and configure a new switchin a
customer network. Use the console access to the existing and new switches to configure and verify correct device configuration.
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Core

Refer to the configuration. For which configured VLAN are untagged frames sent over trunk between SW1 and SW2?A. VLANL1
B. VLAN99C. VLAN999D. VLANA4OE. VLANOSOF. VLAN 200G. VLAN 300 Answer: BExplanation:The native
VLAN isused for untagged frames sent along a trunk. By issuing the "show interface trunk” command on SW1 and SW2 we see the
native VLAN is99. QUESTION 113Y ou have been asked to install and configure a new switch in a customer network. Use the
console access to the existing and new switches to configure and verify correct device configuration.

Core

You are adding new VLANSs. VLANS500 and VLANG0O to the topology in such way that you need to configure SW1 as primary
root for VLAN 500 and secondary for VLAN 600 and SW2 as primary root for VLAN 600 and secondary for VLAN 500. Which
configuration step isvalid? A. Configure VLAN 500 & VLAN 600 on both SW1 & SW2B. Configure VLAN 500 and VLAN
600 on SW1onlyC. Configure VLAN 500 and VLAN 600 on SW2 onlyD. Configure VLAN 500 and VLAN 600 on SW1 ,SW2
and SW4E. On SW2; configure vtp mode as off and configure VLAN 500 and VLAN 600; configure back to vtp server mode.
Answer: AExplanation:By issuing the "show vtp status command on SW2, SW2, and SW4 we see that both SW1 and SW2 are
operating in VTP server mode, but SW4 isaclient, so we will need to add both VLANsto SW1 and SW2. QUESTION 114You
have been asked to install and configure a new switch in a customer network. Use the console access to the existing and new
switches to configure and verify correct device configuration.
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Core

Examine the VTP configuration. Y ou are required to configure private VLANSs for anew server deployment connecting to the SW4
switch. Which of the following configuration steps will alow creating private VLANS? A.  Disable VTP pruning on SW1 onlyB.
Disable VTP pruning on SW2 onlyC. Disable VTP pruning on SW4 onlyD. Disable VTP pruning on SW2, SW4 and
New_SwitchE. Disable VTP pruning on New_Switch and SW4 only. Answer: CExplanation:To create private VLANS, you will
need to only disable pruning on the switch that contains the private VLANS. In this case, only SW4 will connect to serversin a
private VLAN. QUESTION 115Drag and Drop Question Answer:  ''RECOMMEND!!! 1.|]2017 Version New 300-115 PDF and
300-115 VCE 358Q& As Download: http://www.braindump2go.com/300-115.html 2.]2017 Version New 300-115 Study Guide
Video: YouTube Video: Y ouTube.com/watchv=MZA JaM B2e9k
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